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Fourth Semester B.E. Degree Examination, January/February 2006

Common io BM/EC/EE/TE/ML/IT/CS/15
Computer Organisation

Time: 3 hrs.) fhviox Moarks @ 100

Mote: 1. Answer any FIVE hull guastions.
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) Al guesiions camy equal marks.

Explain In bdaf the evolution of computer system. & Marks)

What is pipelining? How doss it mprove the parformancea? B I!u'il:n‘l::-}
Write a short nata on ﬁul’rtm::asmr and mulfl computars. -.'.-& Marie)
Expdaln various types of rotote insfructions {6 Marks)
Explain the faaturas of RISC processor. {8 Moarks)
Write the instruction format MOV AX CX instruction, (6 Muorks)
Whot are condifion code lags? Explain the we of them, & Marks)
Explain Basic instruction types with the halp of exampiss, (4 Marks)

Whiat |5 an oddressng modes? Explain different types of addressing modes,
C10 Marks)

Drow and explain the timing diagram for modified synchronous inpul dota transfer
with mulfiple clock cycles. (& Marks)

Which type of VO devices are interfaced through DMAT Exploin the bus-orbitation
process wsed for DMAT {10 Marks}

Give companson betwsen mamony mapped FO and VO maopped M0 (4 Marks)
Explain vanous Types of SC5 bus Termination, ! {5 Marks)
Espxain ihe faaturas of USE. {5 Moarks)

Describa SDRAM and CDR SDRAM cperafions for data fransfer balwaen main
rmamcny and coche mamory syabarm. (10 Karks)

I @ hwe leved virbual memor y, 45 = 1077 ond {45 = 10725, What must be the hil
rafic "H in orcer for the acoess efficiency to e ofleost 90 percent of 15 mdaxirmum
possitle value. (5 Marks)
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®) Compare fiash drives with hord disk drives. . - (5 Marks)
te} Draw the disk confroiler interfoce connection and explain the major functions of
disk confroder. . {10 Merie)
7. (e} Wiite a short note on look ahead camy generator, : (5 Marks)

(b) Exploin how Booths algodthm. ks suitable for sHgned number mulliplication in com-
parscn of comentlonal thiff and add methiod,
£10 Mearks)

(&) Drow and explain typicol hartwired contral ungt, ~ * {5 Marks)

8. (@) Draw and explain the multiple bus organisation. Explain its advontoges. (10 Morks)

i) With o Bock dlogram, exploin the operation of o cligital cormeana? {10 Marks)
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